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crErq g-q.6 d-n qfuql

Attempt oll questions.

{S crn d sfl frfqqr
(a) Symbolize any sr..r of the following : 6xlh=g

Frefqfoa t t f*-{ Br +i y-ffi i lefisq :

(, Both mechanics and carpenters are not artists, but sculptors are.
+Sf{fi Cs q-d fif +'or+n rd t qlg Xffi-+n Er (M, c, s)

(a) unless a strong foundation is laid, the building will not be safe.
qEr iri5 qfr Tqqi frs Td s&'fr, qqna gferd T6 frmr (L S)

(,,) Good time management is a. necessary condition for being
successful.

sw.d Ai + fdq qqq 6r €-Ecfir 6-Frr qs. slrrrwrfr.trd tr fc, S)
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(iu) It is not the case that a student will not be allowed to sit for the

exam if she has adequate attendance. (S, A)

tqr l-d t f6 ffi ffi a q0m t ffi iEi f<qr qrS,n qR ss+1

Tqtq sqft{d tt
(u) Only if the price of gold comes down, the sale of ornaments will go

up.

+q-d qf( H"i 61 6tc-d +i errEfr, d qTc!il Et fqai s.rt lnwfrr

(G, O)

(ui) If the temperature is very high in summer, then either we will have

to live with shortage of water or we will have to buy water from

suppliers.

qf( rrfitfr i arqqn ersfrrfi A'r, fr qr Et crfr 61 6fr C re+ tn
qr 6d ffidBfi t qc1 sfrfir Arr tr, s, B)

(ua) Either Pankaj will submit his papers or if Ajay submits on his behalf,

then the submission work will be complete.

qr fr ri+-q BTqi q,rrlrkr vqr stfl.il qR erqq ssd 31tr t qqr qt'fl,

fr qqt fii 61 6Fr Tn d vqm r (p, A, c)

(oiii)If goverrtment does not change its fi:raace policy, then either the

coalition parties will withdraw their support or they will call for

revision of the policy.

qR sr*'n e{sfr tfi frfd C cMr r-d q,rfi t fr qr fr rraiw ee
srctr qrd? srcs a dt qr ffi C iyilqr qfi qirr 6itt

(2)

(F, S, R)
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Determine the logical status of al:ry onl of the following : b

Frqftfua yftr*fq srq.r{ t t ffi qq, drffis fisfr frrttftd olfss r

(, t(p.- <I)=(r. p)l =(qvr)
(rr) {tp v(q. r)l =-p} .r(rv q)

Determine the validity/invalidity of any two of the following argument
form by lYuth Table Method : Ex2=10

f{ErFdfud tm f t ffi t o1t*rayeTArdr sdrdr sRUfr fqfu gR ffiiR.d
*1tuq :

(D p:(qvr)

-q.p
...r=_p

(ii) - (p = q) .p
qvr
.'.-pvr

(ia) p=(q:r)
(p=-q)

.'.pfr
Prove the validity/invalidity of any two of the following by Reductio-ad-

absurdum method i 5x2=l0

fuffi-ts-qqdq fqlq snr fiTqtdf€d d t f*,,<1d +1tsr-dyqiqdr fs6
+1fqq r

(r) (p = q). (r = s)

(q:s)
.'. (p = r)

P. T.O.
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or
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(ri) p.q
q=(rvp)
/.'.(rvq):s

(iii)p=(pvq)
r=(-qvs)

(a) R€write the following into stroke function :

frqfufud 61 riln viryn g ftr t fefuq :

(Pvr)=q'

4

-(P>q)
(b) Rewrite the following in terms of negation and dot (-, v) :

frqftrf€d a1 (-, .,) d' {E{ C fu{ t lefras :

-(P.q)v(qrP)
Or(3[qtn)

Rewrite the following in terrns of negation and dot (-, .) :

Frqfdf@d *1 (-, .) *' {+i fr trr t lefuq :

p=q

suggested notation :

by using

2x6=12
gtrq:Tq ri*-m qT Bqqrrr 5.r+ ffidfud i t ffi + +1 *1;-dr 51 ffi*
sqrur tqR qifqq :

(, p=(C=N)
(N.R)>E
T=(R.-E) l.'. P=(C=-T)

4
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6

(a) Tv(ItO)

T ) O l.'.O

(ar)RvN

R:G

(N=B).(B>-S)

Using the strengthened rule of conditional proof, construct a proof of validity

for any one of the following : 6

qqrd eqm + {s{d faqq o.r squ}t *-G gq, fiqfufud q t ffi qd + f€S

ttrar qT HIIM {qs( :

A=(B=C)

B=(C=D) /.'.A=(B>D)

orl(srcrEr)

(T=E) r (A:L) /.'.(T. A) >(E. L)

Constmct an Indirect Proof of any onc of the following :

ftqfefua d t f*..S qfi * frs Atrdr 6r erlrdrq qqu tr;Trsq

A=(BoC)

,(BvC)=E

D v A l.'.8

P.T.O.
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Or(s{TSr)

R=-M
B=(-M=-S)
-M=(-S=-G) /.'.R = - G

functions and quantifiers:

f{qfirfud d t ffi qR ifiT irgq* c*r,*fi sr{ sik qftqrur*t + drt+s t'#d-{
d +1tuq ;

O Diplomats are not always rich. (Dx, Rx)

rtq{fu*. Etvn eTfrr 16 dtr (Dx, Rx)

(ii) Only locals are the members of this club. (Lx, I\[x)

+{€ Tqt{q ftr A W ffis + v<*q tr (tx, tdx)
(ar) Not any visitor stayed for dinner. (Vx, Sx)

qtg S unigfi {d + €ri + fdq rdt sfiu (vx, sx)
(du) gor medicines are dangerous' only if taken in excessive amounts.

(trtfx, Dx, Ex)

(Ilfix, Dx, Ex)
u) 4I oranges and mangoes are delicious fruits. 1gx, I\{x, I}x)

RS {il *r erc srRrs sd tr (o", lfix, Dx)
ri) I\offig in the house escaped destruction. (H+ Ex)

B{ d +{ rfr *q re Ai t ErS rdr ul uxt

8

Tlanslate aty four of the folorrying into the logical notation of propositional

EB Eer{tf *fr t q-e ts€ €rfifrrs qr*r t faqr qrqr
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|. Construct a Formal proof of validity for the following : 5+3

f{qfdt€( d iqdr 61 3iirqqrtr*, yrilq q{r{q :

(, All tigers are fierce and dangerous. Some tigers are beautiful. Therefore,

some dangerous things are beautiful. (1k, Fx, Dx, Bx)

lrfr ets qqR *{ Eirqrfi it tr qo q's {<t iil tr gqfss, qo Eliir<tfi

+q {<t drfi tr (T!r, Fx, Dx, Bx)

Orl(3lele$

Only salesman are retailers. Not all retailers are travell,ers. Therefore,

some salesmen are not retailers. (Sx, R,x, 1!)

+qa Mr d fr&fi tr e.fi frtm{ qri 
'16 r]tr {€frq, EB ffi{

fiitsr rfi tr ts', Rx, Tx)

(a) (x) (Vx = Wx)

(x) (Wx = -Xx)

.'. (x) ()k = -Vx)

Or(3lq?l)

(x) (Bx : -Cx)

(lx) (Cx . Dx)

(lx)(Dx.-Bx)

P.T.O.
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Prove the invalidity of the following by constructing a model containing of two

individuals. (Do any two) : 8

A 6qffi erA dfs€ qa61 fipafukr d sTa?rdr srfdil dtqq (at$ d) ,

(D (lx) (Jx . Kx)

Lx)

.'. (:x) (Lx . Jx)

(ii) (x) (Dx = -Ex)

(x) (Ex > Hx)

.'. (x) (Hx : -Dx)

(la) 1"1 (Rx = Sx)

(lx) (T! . Sx)

.'. (lx) (1\ r - Itx)

(3x) (Ik

;4

8,7
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